
v(m) = sin(kx - mf)

M%l w(w)  = co& - wt)

v&l V(M) = Acos(kr  LOX)+ Bsin(kx  -01)

y/*(x+b,r)yl(x+b,t)=y*(x,rk(x,t)  -
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j~:(x,r)v(x,r)P-=‘*‘&  = M(a,t)
ail space
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PQ+AP

I +*(P)@(P)~P = & jdp
~0-8~

3.2 fWdl-#bJ~  ( Fourier transform )
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3.3 &f%hl~~l~U~fl(  Dirac delta function )

i%llstulf(X)%elq  kwn@iil a1aJ1sm1  g(k) 74 olflmJflls(3.3) munih

&lhhfWIls(3.2)

f(x) = & j d k  e’” jf(x’)Ck”dk’
-m -m

f(x) = ]dx’  f(x’)S(x  - x’)
--m

m

6(x - x’)  = & /e*+‘)dk
-m

x - x’)dx’  = I
-m

6(-x) = 6(x)

u~(hzx)  = 6(x) I a>0

6(x2 -a*) = $6(x-a)  +6(x  + a)]
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[f(p),x]= ytp)
1 dx

F’H  413

.
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-d/Z +d/2

g ( k ) =  +ff(x)i-%!x

g ( k ) =  +fie  -lhdx

-%

-ik
-%

114

= hd sin(kdj2)
(w2)
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Q,flfW9d0&0~l&

‘j, Ily  (xl2  = 1 = 2LC  *
-03

c=&

1 2sin(kL)
=E k

118

I  s in  (kL)
=x k
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